2.0

1.5 A

1.0 -

0.5 -

0.0 -

—0.5 A

_10 -

Eigenfunction on the Icosahedron, A5 = 2.11277068479%112




2.0

1.5 A

1.0 -

0.5 -

0.0 -

—0.5 A

_10 -

Eigenfunction on the Icosahedron, A5 = 2.32748648267%112




2.0

1.5 A

1.0 -

0.5 -

0.0 -

—0.5 A

_10 -

Eigenfunction on the Icosahedron, A>3 = 2.32749457054%112
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Eigenfunction on the Icosahedron, A7 = 3.054410655995 1
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Eigenfunction on the Icosahedron, A, = 3.054419947332 2
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Eigenfunction on the Icosahedron, Axq = 3.40530393182%112
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Eigenfunction on the Icosahedron, A3 = 3.405303931875m?
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Eigenfunction on the Icosahedron, A3s = 3.407315094582
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Eigenfunction on the Icosahedron, Az = 3.407315094612m°
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Eigenfunction on the Icosahedron, Asg = 4.56434608104%112
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